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ipython notebook
EITNERETES., KX E T 7Y FIZH 1T 5720121 notebook D FEET
%matplotlib inline

EATTHNIER . html 7 7 1 )Vid “File”>“Download as”>“HTML (.html)” TRETE 3. H, AL
A — M Google colab &\ o 7-HMI L 7R 2 BT 25 — U A TIT > THDR.
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21 1T5DH/

NumPy 117505 7% & OBUEFIHE 2175 720Dy r =Y TH 5. NumPy i& Anaconda (ZFEHET A - T
W3, Anaconda Z > TWARWHEITHEES VA N—IVT2H8ERDHB.

Z ZH 5 1E NumPy OELFIDOHEW %R .

% 9°1% NumPy @ import %3 5:

>>> import numpy as np

Bi%l - 775D EFE (numpy.ndarray)

>>> x = np.array([1, 2, 3])
>>> x
array([1, 2, 3])
>>> x = [1,2,3]
>>> x
[1, 2, 3]
>>>
>>> x = np.array([[1, 2], [0, 3.0]11)
>>> x
array([[ 1., 2.1,
(0., 3.1
>>> x.T #1759 DERE
array([[ 1., 0.],

[2., 3.1D
>>>
>>> x = np.array([1.0, 2.0, 3.0])
>>> y = np.array([x, (10, 20, 30)1)
>>> y
array([[ 1., 2., 3.1,

[ 10., 20., 30.11)
>>>

>>> x = np.zeros((2,3)) #0175
>>> x

array([[ 0., 0., 0.],




(o., 0., 0.1

>>> x = np.ones((3,4)) #1175l

>>> x

array([[ 1., 1., 1., 1.1,
1., 1., 1., 1.7,
1., 1., 1., 1.1

>>> x = np.eye(3) #HBA177

>>> x

array([[ 1., 0., 0.],
(o., 1., 0.1,
[0., 0., 1.11)

>>>

>>> x = np.arange(9)

>>> x

array([0, 1, 2, 3, 4, 5, 6, 7,
>>> x = np.arange(2,9)

>>> x

array([2, 3, 4, 5, 6, 7, 8])

>>> x = np.arange(2,9,0.1)

>>> x

array([ 2. , 2.1, 2.2, 2.3,
3.1, 3.2, 3.3, 3.4,
4.2, 4.3, 4.4, 4.5,
5.3, 5.4, 5.5, 5.6,
6.4, 6.5, 6.6, 6.7,
7.5, 7.6, T.7, 7.8,
8.6, 8.7, 8.8, 8.91)

>>>

>>> x = np.arange(16)

>>> x

array([ 0, 1, 2, 3, 4, 5,

>>> x =

>>> x.shape

4, 4

>>> x

array([[ 0, 1, 2, 3],
[4, 5, 6, 71,
[ 8 9, 10, 111,
[12, 13, 14, 15]1)

81)

2.4, 2
3.5, 3
4.6, 4
5.7, 5
6.8, 6
7.9, 8

6’ 7)

x.reshape((4,4)) #3x3 1THICE®R
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>>> x =

>>> x

np.arange(16) .reshape((4,4))




array([[ 0, 1, 2, 3],

[4, 5, 6, 71,

[ 8, 9, 10, 11],

[12, 13, 14, 15]1)
>>> x[1,2]
6
>>> x[0:2] #1521 TBFTERYHL
array([[0, 1, 2, 3],

(4, 5, 6, 711)
>>> x[0:2,1:3] #ER924THOERY HL
array([[1, 2],

(5, 611)
>>> x[2:]  #2 fTUAELE
array([[ 8, 9, 10, 11],

[12, 13, 14, 15]11)
>>> x[:-1] #\EHM S5 17EFXT
array([[ 0, 1, 2, 3],

(4, 5, 6, 7],

[ 8, 9, 10, 1111)
>>> x[:,3] #4 5|HDEYHL
array([ 3, 7, 11, 15])

ZH Python 3D 2 BFIZMNT 505, THOMVHRTH I LIZK VWAL T 2l onsd. R
HDITIZTEE D B EL

>>> x = x.astype(np.int)
>>> x.dtype

dtype(’int327)

>>> x = x.astype(np.float)
>>> x.dtype
dtype(’float64’)

TH DB

>>> a = np.array([[1, 0], [0, 3.0]1D)
>>> b = np.array([[0, 2], [3, 4.0]11)
>>> at+b #1THDELE
array([[ 1., 2.1,

(3., 7.1
>>> np.dot(a,b) #{TFDHNTE
array([[ 0., 2.1,

[ 9., 12.1D)
>>> axb #BRIEDEITE
array([[ 0., 0.1,

[ 0., 12.1D)




>>>
>>> ¢ = np.array([1,2])
>>> np.linalg.solve(a,c) #ax = c Zf#<

array([ 1. , 0.66666667])

>>> np.linalg.inv(a) #a DHITH

array([[ 1. , 0. 1,
[ 0. , 0.33333333]1)

HLELD A2

>>> #—IRD

. x = np.random.rand(3,4)

>>> x

array([[ 0.13666122, 0.68166613, 0.68950671, 0.67868824],
[ 0.551999 , 0.19124743, 0.4551671 , 0.7007503 1],

[ 0.84431638, 0.43218764, 0.76020289, 0.61226638]])
>>> #IERD T
. x = np.random.randn(3,4) #ZHEFHRSH 3x4
>>> x
array([[-2.13290801, -0.98600094, 0.21842737, 1.10289088],
[ 2.28912061, -1.4002147 , -1.14987935, -1.48441992],
[-1.85269866, 0.39634935, -0.45133648, 1.3543722111])
>>> #ZIBN TR
. x = np.random.binomial (n=100,p=0.4) #XMN TS 0.4 T 100 [0
>>> x
42
>>> #IRT YV
. x = np.random.poisson(lam=3) #A=10 DRTY VO

>>> X

>>> #ENE size=(10,10) EBIHMAERETNIEERDREIDTI VY LTHNEERTE S

22 FHPBkE For
If X

domain = "us"

if domain == "jp":
print (W"HATY™")

elif domain == "us":
print(u"7 X ) ATE")

else:
print (W"ZDOMOETY")




For X

>>> x = np.zeros(10)
>>> for i in range(10): #0 M5 9 FTIL—7

x[i] = 1

>>> x

array([ 0., 1., 2., 3., 4., 5., 6., 7., 8., 9.1

# enumerate TIL—T T BHICA VT Y I RDETEREBDLIENTES.
>>> x = np.zeros(6)
>>> for i,j in enumerate(range(4,10)):

x[i] = j

>>> x
array([ 4., 5., 6., 7., 8., 9.1

>>> x = [i*#2 for i in range(10)] #ZDLHIREZHLH 5.
>>> x

(o, 1, 4, 9, 16, 25, 36, 49, 64, 81]

#zip CTZDODY A N EREFICIN—TTE 3.

>>> 1listl = [1, 2, 3]

>>> 1ist2 = [4, 5, 6]

>>> for (a, b) in zip(listl, list2): #listl,list2 ZABRCIL—T
print(a,b)

14

25

36

>>> list3 = [7, 8]

>>> for (a, b) in zip(listl, list3): #BEREDDAVWIZIMIAEDLETIL—T
print(a,b)

28

] D Fifi
X% matplotlib % 2 (XFHETE 3.

>>> import matplotlib.pyplot as plt
>>> x = np.random.randn(10)
>>> b =2

>>> y = b*x + np.random.randn(10)*0.3




>>> xx = np.linspace(min(x) ,max(x),100)

>>> plt.plot(x,y,"*")

>>> linel = plt.plot(xx,b*xx,label=’true line’) #label [NBHIDZ~NIJL
>>> plt.legend () #Mfl%EFRTK

>>> plt.show()

23 RE :ypOiE

Exercise 1 % n,p XX LT, X;; ~ N(0,1) (iid) (@ = L,...,n,j = 1,...,p) & Bf ~
N(0,1) (iid) (j=1,...,p) BEKL,

P
Yi = ZXi,jﬁ; + €
=1

RBETFIN (72720 ¢ ~ 0.5 x N(0,1)) 120> T y; AR L. BT — &2 {y;, (Xi,); )}, &V TRA
CREOMEGRT 2 T0 I 0% EF Y. EL, BN CREOMISHENRBOBEBE M TRDOD . £
BDZATF VI TEN T,

n=100,p=1& LT, SN R HOfLfEFEL2RHHIE L. £/, ERLZT X L HOBKS &
O L 7-B8on 7 5 7 &1,

3 scikit-learn =R W2 E

scikit-learn (X Python O E T 1 75V TH 5. BEREBIHEINTSED, scikit-learn D K¥ 2
AV IR=VERBLETHBAEOMENTE S, REHYTIEET—XCHIFZHEZ L THAS.
EOHAT, UBBEIRE NNy r—VR U TFDO LD ICHMAAATEL.

import numpy as np

from sklearn import datasets

from sklearn import linear_model

from sklearn.svm import SVC

import matplotlib.pyplot as plt

from sklearn.metrics import mean_squared_error

import sklearn.metrics as skmet

3.1 [\

scikit-learn (Z1& T 7 AV F TWL DD T =X MBUERINT WS, TN 5 1d sklearn.datasets 2 HIEY
He s,
Z ZTl%, boston housing T—XZHWT, Vv VHIFEELTHAS.

#scikit-learn ICNF SN TWBT—9%HE>
boston = datasets.load_boston()

clf = linear_model.Ridge (alpha = .5)
clf.fit(boston.data, boston.target)

predicted = clf.predict(boston.datal-10:-1])



testy = boston.target[-10:-1]

print (predicted)
print(testy)

#HEROHRE 7Oy b
predicted = clf.predict(boston.data)
testy = boston.target

fig, ax = plt.subplots()

ax.scatter(testy, predicted)

ax.plot([testy.min(), testy.max()], [testy.min(), testy.max()], ’k--’, lw=4)
ax.set_xlabel (’Measured’)

ax.set_ylabel(’Predicted’)

plt.show()

F7 I hDY) y VEEHERIX

B,b= argmin |[Y — X8 — 1b]* + o 8]*
BERP bER

Thzonb. B,bixFnEh

clf.coef_

clf.intercept_

THLD HE 5.

Exercise 2 Vv Vhllffi &2 RDZ 7077 L% HITIERL, boston housing ¥ — & % i\ T scikit-
learn OFEH & LhigH & .

PRIz, IEAME/ST A —& alpha & PHERE L OBfRZ 70y FLTHS.

(n,p) = boston.data.shape
X, X_te = np.split(boston.data, [n*0.8]) #hL—=VFF—9 T A MNT—FICHE
y, y_te = np.split(boston.target, [n*0.8]) #hL—=V I TF—9EFRMT—4ICHE

n_alphas = 200
alphas = np.logspace(-10, 5, n_alphas)
pred_acc = []
for a in alphas:
clf.set_params(alpha=a)
clf.fit(X, y)
y_pred = clf.predict(X_te)

pred_acc.append(mean_squared_error(y_te, y_pred))




plt.plot(alphas, pred_acc)

plt.xlabel(’alpha’)

plt.ylabel (°MSE’)

plt.title(’MSE as a function of the regularization’)
plt.show()

Exercise 3 FOa—FKA2FEFTL, MzHEIEk., UTD LS 2HBETHNIEHIITH 5.

35 MSE as a function of the regularization

30

251

MSE

20

15F
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3.2 #B!

S FR E FBRIZ U TITR S, iris T—REHAVWTEITLTALD.

iris = datasets.load_iris()

clf = SVC() #Support vector machine

# A—RIEBDT 74 ME rbf A—FI (AVZXA—FI)
clf .fit(iris.data, iris.target)
print(list(clf.predict(iris.datal[:3]))) ##ERDHER
print (list(iris.target[:3])) #fERODHER

[\ & ERRIZ RGNS A — & L HRIFREOBFREZ L TAS.

(n,p) = iris.data.shape

tmp = np.random.permutation(n)

X, X_te = np.split(iris.dataltmp], [n*0.8])
y, y_te = np.split(iris.target[tmp], [n*0.8])

n_Cs = 10
Cs = np.logspace(-2, 2, n_Cs)
# clf.set_params(kernel=’linear’)
pred_acc = []
for C in Cs:
clf.set_params(C=C)
clf.fit(X,y)




y_pred = clf.predict(X_te)

pred_acc.append (skmet.accuracy_score(y_te, y_pred))

print (pred_acc)

confusion matrix ZH 1L THS.

c=1

clf.set_params(C=C)

clf . fit(X,y)

y_pred = clf.predict(X_te)

resl = skmet.confusion_matrix(y_te, y_pred)

print(resl)

Exercise 4 Confusion matrix K%, B K. F7z, kernel 2R 7 — %)L (linear kernel) 12 LT
HR%E L, 474 ER LT A —Z2B 1) 5 confusion matrix % HE X.

33 KIRET—49 THE

FHEEXFT—XLLT, MNIST 7—&+t v b2 HWEHEZT75. MNIST 7—XIZAFDI<v Y R T
Xyrua—RTES.

from sklearn.datasets import fetch_mldata

mnist = fetch_mldata(’MNIST original’, data_home=".")

T—REITVXLIHHL, HETEZEX1IDESIIHRS.

—] 08 OUN

DENEN
NEOEEN
DN
NN

1 MNIST 57— & D—ff

%E, WEELTOXSIZLTTo 7.

p = np.random.random_integers(0, len(mnist.data), 25)
fig = plt.figure(0)
for index, (data, label) in enumerate(zip(mnist.data[p], mnist.target[pl)):

ax = plt.subplot(5,5,index + 1)

10




ax.imshow(data.reshape(28, 28), cmap = ’gray’, interpolation=’nearest’)

ax.set_axis_off ()

plt.show()

10,000 DT — X 2 AWTIE I — XV THFEL TAHS.

(n,p) = mnist.data.shape

tmp = np.random.permutation(n)
index = tmp[:10000]

index_test = tmp[10000:-1]

X, X_te

np.split(mnist.dataltmp], [10000])

y, y_te = np.split(mnist.target[tmp], [10000])

clf = svc()

clf.set_params(kernel=’linear’,C=100)
clf . fit(X,y)
y_pred = clf.predict(X_te)

print (skmet.accuracy_score(y_te, y_pred))

IEfESRIZ 720720 0.9096 T, FEIZH D11 5.

Exercise 5 k-iif%i% (KNeighborsClassifier) 7 &, fiDFEGEEZAL TA L. HHFGE2WEIEL T L
XTEBLMN?

4 REFBICLZFESXFRH BIRFEE)

ZZTlE, #E¥E (Deep learning) % H\WT MNIST ¥ — X DA %175 . HEFZZIIAMOR & K172
BEEF - ZFHETLTHY, WSDLDFEERZFIZR->TWS. EEFHOFEMIIF AL (3, 1] 25
FEDI L.

WEEE D Python 71 75 V& PyTorch, Pylearn, TensorFlow 7 ¥ £ % 4%, AREECIXFRI 2 H
LT, Chainer £IEENE T 17 F ) 2HWS. Chainer D >~ A b —)LIFfH T, Windows T Anaconda
EFHOWTWAHAK, avv KTer 7T

pip install chainer
ETNERW. H 2 ld python DI — KT
import chainer

DEDIZTHIER L.

#!/usr/bin/env python

import argparse

11




import chainer

import chainer.functions as F
import chainer.links as L
from chainer import training

from chainer.training import extensions

# Network definition

class MLP(chainer.Chain):

def __init__(self, n_units, n_out):
super (MLP, self).__init__()
with self.init_scope():

# the size of the inputs to each layer will be inferred

self.11 = L.Linear(None, n_units) # n_in -> n_units
self.12 = L.Linear(None, n_units) # n_units -> n_units
self.13 = L.Linear(None, n_out) # n_units -> n_out

def forward(self, x):
hl = F.relu(self.11(x))
h2 = F.relu(self.12(h1))
return self.13(h2)

# REPHNUL NN BHL TH SV (GPU FIFBHLE)
class MyCNN(chainer.Chain):
def __init__(self, n_units, n_out, stride=1):
w = math.sqrt(2)
super (MyCNN, self).__init__(

L.Convolution2D(None, n_units, 3, stride, 1, w, nobias=False),

convl

conv?2 L.Convolution2D(n_units, n_units, 3, stride, 1, w, nobias=False),
conv3 = L.Convolution2D(n_units, n_units, 3, stride, 1, w, nobias=False),
11 = L.Linear (None, n_out)

)

self.train = True

def __call__(self, x, t):

hl = F.relu(self.convl(x))
h2 = F.relu(self.conv2(hl))
h3 = F.relu(self.conv3(h2))

return self.13(h3)

if __name__ == ’__main__’:

12




parser = argparse.ArgumentParser(description=’Chainer example: MNIST’)
parser.add_argument (’--batchsize’, ’-b’, type=int, default=100,
help=’Number of images in each mini-batch’)
parser.add_argument (’--epoch’, ’-e’, type=int, default=20,
help=’Number of sweeps over the dataset to train’)
parser.add_argument (’--frequency’, ’-f’, type=int, default=-1,
help="Frequency of taking a snapshot’)
parser.add_argument (’--gpu’, ’-g’, type=int, default=-1,
help="GPU ID (negative value indicates CPU)’)
parser.add_argument (’--out’, ’-o’, default=’result’,
help=’Directory to output the result’)
parser.add_argument (’--resume’, ’-r’, default=’’,
help=’Resume the training from snapshot’)
parser.add_argument (’--unit’, ’-u’, type=int, default=100,
help=’Number of units’)
parser.add_argument (’--noplot’, dest=’plot’, action=’store_false’,
default=True,

help=’Disable PlotReport extension’)

args = parser.parse_args()

print (’GPU: {}’.format(args.gpu))

print(C’# unit: {}’.format(args.unit))

print (’# Minibatch-size: {}’.format(args.batchsize))
print (’# epoch: {}’.format(args.epoch))

print(’’)

# Set up a neural network to train
# Classifier reports softmax cross entropy loss and accuracy at every
# iteration, which will be used by the PrintReport extension below.
model = L.Classifier(MLP(args.unit, 10))
if args.gpu >= O:
# Make a specified GPU current
chainer.backends.cuda.get_device_from_id(args.gpu) .use()

model.to_gpu() # Copy the model to the GPU
# Setup an optimizer
optimizer = chainer.optimizers.Adam()
optimizer.setup(model)
# Load the MNIST dataset

# YIENEY Yy O0— RICEE DD 2P ZOBUEIERL 2 5.

13




train, test = chainer.datasets.get_mnist()

# PEDORE%ZITD iterator DEF
train_iter = chainer.iterators.Seriallterator(train, args.batchsize)
test_iter = chainer.iterators.Seriallterator(test, args.batchsize,

repeat=False, shuffle=False)

# Set up a trainer (FBDEFIEZINTEDLY)
updater = training.updaters.StandardUpdater (
train_iter, optimizer, device=args.gpu)

trainer = training.Trainer (updater, (args.epoch, ’epoch’), out=args.out)

# Evaluate the model with the test dataset for each epoch

trainer.extend(extensions.Evaluator(test_iter, model, device=args.gpu))

# Dump a computational graph from ’loss’ variable at the first iteration
# The "main" refers to the target link of the "main" optimizer.

trainer.extend(extensions.dump_graph(’main/loss’))

# Take a snapshot for each specified epoch
frequency = args.epoch if args.frequency == -1 else max(1l, args.frequency)

trainer.extend(extensions.snapshot (), trigger=(frequency, ’epoch’))

# Write a log of evaluation statistics for each epoch

trainer.extend(extensions.LogReport())

# Save two plot images to the result dir
# FEORZBI . /result/loss.png ¥ ./result/accuracy.png ICHNI N 3.
if args.plot and extensions.PlotReport.available():
trainer.extend(
extensions.PlotReport([’main/loss’, ’validation/main/loss’],
’epoch’, file_name=’loss.png’))
trainer.extend(
extensions.PlotReport(
[’main/accuracy’, ’validation/main/accuracy’],

’epoch’, file_name=’accuracy.png’))

Print selected entries of the log to stdout
Here "main" refers to the target link of the "main" optimizer again, and
"validation" refers to the default name of the Evaluator extension.

Entries other than ’epoch’ are reported by the Classifier link, called by

H H O OH

either the updater or the evaluator.

14




# ./result/log ICEFRBOOIHNHAETNS.
trainer.extend(extensions.PrintReport(
[’epoch’, ’main/loss’, ’validation/main/loss’,

’main/accuracy’, ’validation/main/accuracy’, ’elapsed_time’]))

# Print a progress bar to stdout

trainer.extend(extensions.ProgressBar())

if args.resume:
# Resume from a snapshot

chainer.serializers.load_npz(args.resume, trainer)

# Run the training

trainer.run()

# Save the model and the optimizer

print(’save the model’)
chainer.serializers.save_hdf5(’mlp.model’, model)
print(’save the optimizer’)

chainer.serializers.save_hdf5(’mlp.state’, optimizer)

LD a—RE2FTUKR, P8O R R HRIREDOBEA 2 D & 512, /result /accuracy.png & &

. /result /loss.png IZ 1 & 5.

“— main/accuracy
~— validation/main/accuracy

oo} W

5 10 15 20 0 5 10 15 20
epoch epoch

(a) FAkEEE (b) v A%k
B2 EEEOER R HBEE B & 0o 2B

Exercise 6 FOa2— RZHMEL T, EiTE X, EDOX5RHITEEIL TVWDEES SN0,

= main/loss
~— validation/main/loss

7z, BRNEOK

Lazy MR EEEZT, HHEEOEZBIRL, V770D TRER L. HOT—%ky bz

FAWTERLTH B,

15



5 Word2vec #EHd GEIREE2)
Word2vec & IXHFED NS MVRBZFEHTHFETHS. ThiD,
‘King’ + ‘Woman’ — ‘Man’ = ‘Queen’

DESITHEEDR UG ENHARIZRS. 22 TlE, HASHEMAD gensim 74 77 Y & A\ T word2vec % Hj
ML TAS.

Word2vec % BLfif 9 % 72812 1% CBOW (Continuous Bag-of-Words) & skip-gram % H12 % ED3dH 5.
CBOW (3L DBEEMN S 5 2 BB T L 2R ZFR T 2 ET VT, — 4 skip-gram (2 DH D H % HiGh
BHEZONTZRZZDIIZED K S LHFEPERNCT VWP EHETI2ET NV THS. TOHEDOHBIHE %
KI7-DIZ, EHFEw T 0, BDEIRT MVREZED Y TS, ZORZ MLEREZHAWT, skip-gram 72 5 (%,

exp((fwo 0w, )
> P (O, Oy )

EUTHEE wo D wy DEBIZENIHERERIT D, helk, 7—4006 0, 2FFTNERV (ERITK
RHeERE). ZTDBE, RO Y DD OFEBERE 2B DT, St [2] TIE negative sampling &5
FHEEZRELTWS. #LLIE 4] 22K ZOEHETEIUTOAT A FONAZBEFEL TOWNIX 2 TH 5:

P(wolwr) =

http://www.slideshare.net/unnonouno/20140206-statistical-semantics

RDI—RTiE text8 T— Xty b & HWT word2vec 2 #E L TW5 (32— FIXEFHICEA TE). text8
F—REv ML

http://mattmahoney.net/dc/text8.zip

PHXY L u—RT5 (FOI—RTld./mldata 22 7 A VRIMRFELTH D Z & &2 fHE).

import sys

import os

from gensim.models import word2vec

train_file "./mldata/text8"

result_dir = "./result/text8_gensim"
import logging
logging.basicConfig(
format=’%(asctime)s : %(levelname)s : J%(message)s’,

level=logging.INFO)

data = word2vec.Text8Corpus(train_file)

model = word2vec.Word2Vec(size=100, window=5, min_count=5, workers=7)

model .build_vocab(data)
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print ("#** Training model", file=sys.stderr)

model.train(data)

print ("*** Saving model", file=sys.stderr)
model.save_word2vec_format (
os.path. join(result_dir, "vectors.txt"), binary=False,

fvocab=os.path. join(result_dir, "vocab.txt"))

MREMRLUTAS. HIHEEDO TNV —TITHRUZHBEERT MVOES%Z FHRS AT I0LICHE e L,
AL TAhS.

from sklearn.decomposition import PCA
import matplotlib.pyplot as plt
import pandas as pd

from gensim.models import word2vec

result_dir = "./result/text8_gensim"

model = word2vec.Word2Vec.load_word2vec_format (
os.path. join(result_dir, "vectors.txt"), binary=False)

wordlist = {’france’,’paris’,’germany’,’berlin’,’poland’,’warsaw’,’moscow’,’russia’}

df_city = model [wordlist]
pca = PCA(n_components=2)
pca.fit(df_city)

tmp = pca.transform(df_city)
pca_df = pd.DataFrame (tmp)
pca_df.index = wordlist
pca_df.columns = [’PC1’,’PC2’]

ax = pca_df.plot(kind=’scatter’, x=’PC2’, y=’PCl’, figsize=(16,8))

for i, word in enumerate(wordlist):

ax.annotate(word, (pca_df.iloc[i].PC2, pca_df.iloc[i].PC1))

plt.show()

T—RE Y M text8 IFE DY A X TRZEZETHEIXHZWD, EOX>Ha—-NTZENS LWRERIZES
N5, F£7z, gensim & C TI Y RA )L TWARWE python I— Rhffibh, EENEL LS. CTav
ANT B TRIEREERENTE S, BENIZ X > TiE Cython A3A > TWHIE, EEKAHDIS.

Exercise 7 LOI— NZHREL, FTLUTHERZMEBIRE L. JOHRFEOHMAGDLETERS AL R E
MRt L. FAEEEEREVAVWALEELT, YOLSRMRATEShHETL. 22 X1E
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model .most_similar (‘dog’)
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